Direction(1-5) what should come in place of the question mark(?) in the following question
1) 5083 + 25% of ? +289 = 6385.5

a)4044                 b)4054

c)4154                 d)4104

e)None of these

2) 383/ 25 *2.5 + 12 = ?

a)50.30                 b)222.14

c)68.30                 d)124.24

e)None of these

3) 4.5% of 800 / 0.5% of 640 = ?

a)11.75                 b)12

c)112.05               d)11.25

e)None of these
4) Cube Root of 12167 * Square root of ? =621

a)841                   b)27

c)625                  d)29

e)None of these

5) 5967 - 2437 - 1910 / ? = 27 

a)841                   b)27

c)625                  d)29

e)None of these

Direction(6-10) what should come in place of the question mark(?) in the following question
6) 50 60 75 97.5 ? 184.275 267.19875 

a)120.50                 b)130.50

c)131.625               d)124.25

e)None of these

7) 12 15 36 ? 480 2415 14508 

a)115                 b)109

c)117                 d)75

e)None of these

8) 1  2 6 21 88 445

a)2230                 b)2676

c)2580                 d)2670

e)None of these

9) 20 21 25 34 50 ? 111

a)70                 b)65

c)60                d)4104

e)None of these

10) 600 125 30 ? 7.2 6.44 6.288

a)6               b)10

c)15             d)12

e)None of these

Direction(11-13) Study the following Information carefully and answer the following questions
Mr Z earns an annual income of rs 12.75 lakh.Every month he saves 20% of his monthly income.15 % of the remaining amount of this monthly income he spends in paying his loan installment.he spends 24% of his monthly income in paying various bills and spends 42% of his monthly income on various other household expenses. The remaining amount of his monthly income he sends to his family

11) what is the total of monthly amount Mr Z sends to his family and the monthly amount he spends on various household expenses ?

a) Rs 46,750               b) Rs 48,000

c) Rs 45,500               d) Rs46,000

e)None of these

12) what is the amount Mr Z spends annually in paying his loan installment ?

a) Rs 46,750               b) Rs 48,000

c) Rs 45,500               d) Rs46,000

e)None of these

13) The monthly amount Mr Z sends to his family forms what percent of his monthly saving ?

a) 5               b)8

c) 15             d)10

e)None of these

14) In how many different ways can the letter of the word " PEANUT " be arranged ?

a) 720               b)360

c) 650               d)700

e)None of these

15 The Speed of a car is 1.5 times the speed of bus.If the car travels at the speed of 60 km/hr. What will be the difference in the time taken by the bus and the time taken by the bus and the time taken by the car to Cover 72 Kms ?

a) 5 Hours               b) 6 Hours

c) 4 Hours               d) 8 Hours

e) None of these

Direction(16-20) what should come in place of the question mark(?) in the following question.
16) 3.5* 1.35 * 4.5 / 0.5 = ?

a) 35                b) 20

c) 40               d)50

e) 55

17) (128.4 + 11.101 + 35.025) / ? = ?

a) 35                b) 20

c) 40               d)50

e) 55

18) 572 / Sq Root. 1755 *12 = ?

a) 150                b) 170

c) 155                d)165

e) 175

19) Sq Root.of 925 / cube root of 350 = ?

a) 4                b) 8

c)12               d)15

e) 6

20) 12.36 * 4.26 + 13.38 = ?

a)72               b) 66

c)58               d)52

e) 80

Answer
1) b              11) e

2) a              12) e

3) d              13) d

4) e              14) a

5) a              15) b

6) c              16) c

7) c              17) d

8) b              18) d

9) d              19) a

10) e            20) b

